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138 I |5 th1f{e7 85 87 85| 87| 250| 6 {83 86 85|87 86| 257 5 | 31.72 |257.76 [ 7 || 773.76 4
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146 TEH KiE th1|{es 86 86 86| 85| 258 | 8 {84 83 84|85 85| 253 15| 32.05 | 257.52 [ 11 || 768.52 9
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168 R 2T S 1|[64] 84 86|84 87| 254 | 7 {85 86|85 85| 87| 256| 7 || 33.1 |260.57 | 3 || 770.57 7
165 IR ES =1

[E10E BB 17 A% BmETRIO YIRS IhBalXx—1%

REIM—% (ERBFOL]

t 91 K % e |lrmy gt | g kE Y et | e |piman] e [ EE|] ax |wemEs
171 KE Hia =1 [0 [s8 89| 89| 88| 266 | 2 |[s8 87 89| 88| 80| 265| 1 || 31.02 |265.42 | 2 || 796. 42 1
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176 BIlL 5% = 1](s6| 86 88 87 87| 260| 5 {8587 87| 86| 86| 250 4 || 3264 |260.22 | 6 || 779.22 5
181 IRE A =1|[s7]85 89|88 87| 262 | 4 {8482 80| 82|84 248 o || 31.92 |262.53 | 3 || 772.53 6
172 EN O BEX = 1](s6 |83 85 84 85| 254 | 7 |[s5 86 85|85 86| 256 6 || 32.85 | 250.54 | 7 || 769.54 7
174 AA = = 1][s3] 83 84 82 84| 250 | 10 [[s4 |86 84| 8a|8af 252 7 || 33.26 |258.23 | 8 || 760.23 8
179 SR it =2||82 84 84|84 82| 250 10|82 80|80 81 82| 243 | 11| 33.47 |257.55 | o [[ 750.55 9
175 EAaK B =284 85 83 85 84| 253 | 8 {8384 84| 83| 8af 251 8 || 36.91 |246.50 | 11 || 750.50 10
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